Corrigé DM n° 10
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1
1)f’n(x)=—n—lnx—x><;=—n—lnx—1

2) a) la tangente est paralléle a (0x) < f'(a) =0 =lna=-n—-1<a
— e—n—l
b) fn(e—n—l) = —ne ™"l _pe M 1lpe ™ 1=_pen1_ (_n —_ 1)e—n—1 = e N1

Donc A,, sur la droite d’équation y = x
Na)fx) =0 —nx—xinx=0 - x(n+hx)=0on+lhx=0=x=e™"
b) coeff directeur = f',(eT™)=-n—-14+n=-1
Exercice 128 page 159
1 a) f'(x) = 2(aln®*x + blnx + ¢) + 2x< +=

= 2aln®*x + (4a + 2b)Inx + 2b + 2¢
1
b)f'(g) =f’(\/z) =0etf'(e) =4
1 1
( 2alnzg + (4a + 2b)lng+ 2b+2¢c=0

) iZaan\/E + (4a + 2b)Inve + 2b + 2c = 0
2aln*e + (4a + 2b)Ine + 2b + 2c = 4
2a—4a—-2b+2b+2c=0

1 c—a=20
=< -a+2a+b+2b+2c=0 < 35a+6b+4c=0

2 —
2a+4a+2b+2b+2c=4 3a+2b+c=2

2alnx b)

a=c c=2
@{3a+2b:0=>{b=—3
2a+b=1 a=?2
f(x) = 2x(2In*x — 3lnx + 2)
2) a) f'(x) = 4ln*x + 2Inx — 2 = 2(2In*x + Inx — 1) = 2(2Inx — 1) (Inx + 1)

1
b)2lnx—1>0<=)x>x/§etlnx+1>0(=)x>g
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